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X,=90,69.Y,~8859.2,~7198 B,
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X,=90,69Y,,=88,592,~71,98 B,
¥, =0,3600y,,=0,3525 a5
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Bz = (b~ by, Y15 (Y1913
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b,=ba0 [(Mp1x+bp1)/Y]
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X4=90,69.Y,,=88,592,~71,98 B,
¥, =0,3600y,,=0,3525 1
A= (@ = as) Yig (VY1913

B3 = (b3~ bs ) Y15 (/Y1913

ag =ay [(x-0,17D/y] i
b3=ba [(Mp1x+bp1)/y]
80=1, byo=-0,4
mpy=-1,344),=0,781
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X,=90,69.Y,~8859.2,~7198 B,

%,=0,3609y,,=0,3525 At
Ay (8 =aq) Yia (Y19 113
By = (b4 — by ) Y18 (Y/Y19
a4 =ay[(x-0,17Dh] 1
b=ba0 [(Mp1x+bp1)/Y]
80=1, byo=-0,4 81
Mpy=-0,157,bp1=0,385 . P58joo 3 A
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X,=90,69Y,,=88,592,~71,98 B,
¥, =0,3600y,,=0,3525 1
As = (@~ as,y) Yia (VY1913

Bs = (bs ~ bs ) Y15 (/Y19 /3

a5 =ay [(x-0,17Dh] i
bs=ba [(Mp1x+bp1)/y]
80=1, byo=-0,4
mpy=-1,344),=0,781

n = P00 -40
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olours (0) Yy\=88,6
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X,=90,69,Y,-8859.2,=71,98 B,
%=0,3609y,,=0,3525

Aq= (8 ~a5,) Y1s (VY1913

Bg = (05 = bg ) Y18 (Y/Y19)

g =g [x/Y] 1

be=ba [(Mp1x+bp1)/y]
ap0=1, byy= 04 8

Mp1=-1,344b,=0,781 \ prE'B/o \

n = P00 -40
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max (m) chromatic value, P00
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